418 73 BU NI DY RIE S (T 5 5%)

b H: iy
11 1 1
S+ )3 x4+ = = 47x6+2—4(49— -)=

6(3 +5) =3 x4+ 7x6 (49-2)

2 1 1 301

Zx6+3-2(=+21)= —x10+2+45(=+ =) =

5263723+ 20 g 1072555+ 3)

lx15*5+4(1+27)= 1x2044—4(3+37)=

5 ' 4 = 3 ' 4 =

39><6;2—5(1—53)= 8(2+32);4x5+1=

. . 3 . 5 . N 2

15(29+57);5><4—1= 1x15;5—3(33+2)=
. . N 2 2 N . 3

www.snowmath.com


https://www.snowmath.com

Jas>

&

=

[al A 73 BN B DY RIS 5 (B 35 9%)

4 EE:if s [
LR U < B | ko 129 5

65 +5)+3 x4+ 5 == =T¢ 47% 6+2-4(49- ) = () = (+47)

2 63— L
$X653-23+21)= ()= (4

1 2 2
Sx15+ 5+q 7 T2 = 5 =12t

5

| 548 8

. _2_ — —5. = = J—

3.9%6+2-5(3 ~53)= 7= =367
1 1027 7
1529+ 5.7)+ 4——=——=102—
529+5.7)+5x 4= 5= — 02

39 3
_):__9_

1 3
S x10+2+5(2 +
4 G 4

%xzo 4-4(3 +3T)(—%Ey—ﬁ

1731
(+3m 4x5+ 2= — =36

2 2

1 2 52 2
- 1 : . 1

www.snowmath.com



https://www.snowmath.com

